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N.B. :— (i) Attempt all questions.

(ii) All questions carry equal marks.

(iii) Use of calculator is permitted.

(i)

(ii)

(iii)

1. What is skewness ? State tests of skewness. 10

Or

Calculate the Karl Pearson’s coefficient of skewness from the following data :

x f

4 2

8 5

12 7
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WT (    2    ) LB—145—2024

16 10

20 14

24 6

28 1

x f

4 2

8 5

12 7

16 10

20 14

24 6

28 1

2. Explain the meaning of moments and state the importance of moments. 10

Or

Find the four moments from the following data :

x f

10 2

20 3

30 5

40 9

50 6

60 4

70 1
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P.T.O.

x f

10 2

20 3

30 5

40 9

50 6

60 4

70 1

3. Write a short note on Kurtosis. 10

Or

Find the straight line trend by least square method based on the following

data :

Year : 2011 2012 2013 2014 2015

Production : 70 80 82 90 92

 : 2011 2012 2013 2014 2015

 : 70 80 82 90 92
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4. What is time series ? Explain the components of time series. 10

Or

Find price index number using family budget method from the following data :
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5. Attempt any two of the following : 10

(i) Use of index number

(ii) Problems in the construction of index number

(iii) Calculate the Bowley’s coefficient skewness based on the following data :

X : 5 10 15 20 25 30

F : 2 7 10 12 6 3

(iv) Find the four year trend value using moving average method from the

following data :

    Year : 2001 2002 2003 2004 2005 2006 2007 2008

    Production : 80 84 88 90 86 92 94 96

(i)

(ii)

(iii)

X : 5 10 15 20 25 30

F : 2 7 10 12 6 3

(iv)

 : 2001 2002 2003 2004 2005 2006 2007 2008

 : 80 84 88 90 86 92 94 96
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